
1

6

2
7

6
0

2700

147.010

top side cladding

5

3

4

2

Dimensions outline

cladding refer to

drawing 5013-110

Dimensions and details

main steel structure

and GRP flooring,

refer to Briton 1906 drawings

Details standard panel

with stiffener refer to

drawing 5013-305

144.250

bottom side cladding

A

A

Drain

tray system

S/S 4 mm

support bracket

M12x50 +

isolating nylon

washers

+ self-locking nut

M10x25 + washer

+ self-locking nut

S/S 3 mm

connection

bracket

S/S 3 mm

continuous

sickle-shaped

strip

15 mm steel plate

welded to main

steel structure

15

nom

2
5

x
3

0
x
5

0
x
3

0
x
2

5

o
m

e
g

a
 
s
h

a
p

e
d

s
t
i
f
f
e

n
e

r

L
o

c
a

l
l
y
 
l
a

s
e

r
c
u

t

s
q

u
a

r
e

 
h

o
l
e

s
 
i
n

S
/
S

 
p

a
n

e
l

7
0

3
8

4
8

S/S M10x80 +

self-locking nut

PA-66 spacer

(UV stabilized)

RAL9005

60

1
3

1
9

S/S 3 mm

sickle-shaped

strip

S/S 2 mm

rolled panel

S/S 3 mm

clamp with M10

tightening bolt

+ self-locking nut

connection

available

 for earth

bonding

by others

S/S 3 mm

clamp plate,

15 mm flanges

on all sides

S/S 3 mm connection

bracket

S/S 2 mm panel

locking bracket

(width = 30 mm)

M8x20+washer+

self-locking nut

M6x16 + washer

+ self-locking nut

1

5

Panel hook system: detail 2

S/S 3 mm

connection

bracket

connection

available

 for earth

bonding

by others

M8x20+washer+

self-locking nut

1

5

Panel locking:

M6x16 + washer

+ self-locking nut

15

nom

15

nom

CTC 1170 (standard panel)

full width omega

stiffener profile

Panel open at corners

to prevent water accumulation

Steel plates

for pipework support,

see drawing 5013-200

CTC 1170 (standard panel)

If paper resized from A1 to A3 use scale factor 0.5

modifications

namerev.

checked:

Project

Subject

drawn:

date

date:

Drawing number:

Project number:

status:

scale:

size:

:

:

This drawing is copyrighted by Sorba Projects BV / Sorba UK Limited, and may not be reproduced in part or in whole without written permission.

Sorba Projects BV

P.O. Box 18

7100 AA Winterswijk

The Netherlands

T +31 (0) 543 546 700

F +31 (0) 543 546 701

www.sorba.nl

projects@sorba.nl

G
:
\
A

C
A

D
\
D

W
G

S
\
2

7
1

9
3

-
5

0
1

3
\
2

D
 
D

r
a

w
i
n

g
s
\
0

3
0

0
 
c
l
a

d
d

i
n

g
 
s
y
s
t
e

m
\
5

0
1

3
-
3

0
0

.
d

w
g

Steam Pipe Bridge - Birmingham

Cladding system principles

27193

5013-300

HR CH 11-03-2010 As built

A1

1:10 1:2

2

Panel hook system

scale 1:2

3

Substructure / mesh behind cut-out

scale 1:2

1

Connection substructure to steelwork

scale 1:2

4

Lock bracket ceiling panel

scale 1:2

5

Lock bracket side panel

scale 1:2

6

Lock system roof panel

scale 1:2

Section A-A

scale 1:10

HR10-05-2010B

Isolating washers near mild steel / CTC hook of top panel amended

HR11-05-2010C

Clamp plate detail updated

HR18-05-2010D

Drawing updated with Briton structural steel drawing 1906-01 rev A

HR13-08-2010E

Form B update

HR23-09-2010F For construction

HR21-04-2011G As built


